Labor Costs Worksheet
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1. One employee is using a wire welder and can do the job in § hours. Another employee is using a stick
welder and can do the job in 6.5 hours. If they are both working on the job, how long will it take?
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2. One employee is using a wire welder and can do the job in 4 hours. Another employee is using a stick
welder and can do the job in Shours és mmuteq If they are both working on the job, how long will it

take? . 3
wo T

ime ount o - - — 23X
! ?:rrﬂ:c d(tm;cinl [ "L “ 78 - ]

. hr ]

VWV;rlfier }‘”\f% Y 5‘7§‘x — L/;g = Z

- {

et | BISk = 6,75 "z ’25 )

M x| W= S 2.4 hrs

e o Qhr 24 mn

A b LOmin *
]% -'Zl{ml"\

3. A company hires both cutters and welders to manufacture parts. A cutter makes $12 an hour while the
welder makes $25 an hour. Write an equation using c for cutter and w for welder to represent the cost tor
labor. If a cutter works 18 hours and the welder works 10 hours on a job, how much is the cost for labor?
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4. A company hires cutters, welders, and painters to manufacture parts. A cutter makes $12 an hour, the
welder makes $20.50 an hour, and the painter makes $8.50 an hour. Write an equation using ¢ for cutter,
w for welder, and p for painter to represent the cost [or labor. If a cutter works 12 hours, the welder
works 8 hours on a job, and the painter works 2 hours, how much is the cost for labor? '
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5. One pump can fill a tank with oil in 3 hours. A second pump can fill the same tank in 4 hours. Tf both
pumps are used at the same time, how long will they take to fill the tank?
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6. Ann can trim hedges around her property in 8 hours using an electric hedge trimmer. Dave can do the
same job in 15 hours using a manual trimmer. Ilow long will it take them to trim the hedges together?
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